RECODE

  poldesc appcourt appattor appcompt interpel censure censured censurei censurev censurec emerdecl emercont emertemp impeachb

  qualifie qualifi0 reasons presiden  (0=1)  (1=2)  (2=3)  (3=4)  (4=5)  .

EXECUTE .

CATPCA

  VARIABLES=poldesc appcourt appattor appcompt interpel censure censured censurei censurev censurec emerdecl emercont

  emertemp impeachb qualifie qualifi0 reasons presiden

  /ANALYSIS=poldesc(WEIGHT=1,LEVEL=ORDI) appcourt(WEIGHT=1,LEVEL=ORDI) appattor(WEIGHT=1,LEVEL=ORDI) appcompt(WEIGHT=1

 ,LEVEL=ORDI) interpel(WEIGHT=1,LEVEL=ORDI) censure(WEIGHT=1,LEVEL=ORDI) censured(WEIGHT=1,LEVEL=ORDI) censurei(WEIGHT=1

 ,LEVEL=ORDI) censurev(WEIGHT=1,LEVEL=ORDI) censurec(WEIGHT=1,LEVEL=ORDI) emerdecl(WEIGHT=1,LEVEL=ORDI) emercont(WEIGHT=1

 ,LEVEL=ORDI) emertemp(WEIGHT=1,LEVEL=ORDI) impeachb(WEIGHT=1,LEVEL=ORDI) qualifie(WEIGHT=1,LEVEL=ORDI) qualifi0(WEIGHT=1

 ,LEVEL=ORDI) reasons(WEIGHT=1,LEVEL=ORDI) presiden(WEIGHT=1,LEVEL=ORDI)

  /MISSING=poldesc(PASSIVE,MODEIMPU) appcourt(PASSIVE,MODEIMPU) appattor(PASSIVE,MODEIMPU) appcompt(PASSIVE,MODEIMPU)

  interpel(PASSIVE,MODEIMPU) censure(PASSIVE,MODEIMPU) censured(PASSIVE,MODEIMPU) censurei(PASSIVE,MODEIMPU) censurev(PASSIVE

 ,MODEIMPU) censurec(PASSIVE,MODEIMPU) emerdecl(PASSIVE,MODEIMPU) emercont(PASSIVE,MODEIMPU) emertemp(PASSIVE,MODEIMPU)

  impeachb(PASSIVE,MODEIMPU) qualifie(PASSIVE,MODEIMPU) qualifi0(PASSIVE,MODEIMPU) reasons(PASSIVE,MODEIMPU) presiden(PASSIVE

 ,MODEIMPU)

  /DIMENSION=2

  /NORMALIZATION=VPRINCIPAL

  /MAXITER=100

  /CRITITER=.00001

  /PRINT=LOADING QUANT( poldesc appcourt appattor appcompt interpel censure censured censurei censurev censurec emerdecl

  emercont emertemp impeachb qualifie qualifi0 reasons presiden )

  /PLOT=OBJECT (20) JOINTCAT( poldesc appcourt appattor appcompt interpel censure censured censurei censurev censurec

  emerdecl emercont emertemp impeachb qualifie qualifi0 reasons presiden ) (20) LOADING (20) TRANS( poldesc appcourt appattor

  appcompt interpel censure censured censurei censurev censurec emerdecl emercont emertemp impeachb qualifie qualifi0 reasons

  presiden ) (20)

  /SAVE=OBJECT (OBSCO(1)) .

DESCRIPTIVES

  VARIABLES=OBSCO1_1

  /STATISTICS=RANGE MIN .

COMPUTE GOVPOWER=((OBSCO1_1-(-1.265556268574))/4.358388026587) +1 .

DESCRIPTIVES

  VARIABLES= GOVPOWER

  /STATISTICS=RANGE MIN MAX .

COMPUTE  GOVPOWER2= (((OBSCO1_1-(-1.265556268574))/4.358388026587) * 99) +1 .

DESCRIPTIVES

  VARIABLES= GOVPOWER2

  /STATISTICS=RANGE MIN MAX .

